
Here is an example showing the differences between \place, \nudge and \an.
It shows also how to use \cdm and \dman.
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The code that generates this example is:

\begin{JLdraw}[\lgray]{11\pc}{7\pc}

\ldash

\xrange{0}{11}{1}

\yrange{0}{7}{1}

\xaxis[\Gridtrue]{0}{1}{1}{11}{0}

\yaxis[\Gridtrue]{0}{1}{1}{7}{0}

\nudge{1}{4}{nudge(1,4)}

\place{4}{4}{place(4,4)}

\an{8}{4}{an(8,4)cm}cm

\place{1}{2}{place(1,2)}

\an{8}{2}{an(8,2)lm}lm

\an{1}{6}{an(1,6)lb}lb

\an{8}{6}{an(8,6)rt}rt

\an{3}{5}{\drawmarker[\mediamond{4}]}cm

\an{4}{2}{\cdm{0}{7}{6}{\vskip .25\pc an(4,2)cm\\cdm(7,6)\vfil}

\dman{lt}lt\dman{br}br}cm

\end{JLdraw}
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